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p.3 917 H 6.022 x 1023 [mol ] 6.022 x 10% mol~!
p.5 1017 H n [mol] n
8.31[J-mol~! - K1 8.31J-mol ! -K™!
Tnb 54TH 1.0 x 10° [Pa 1.0 x 10° Pa
300 [K] 300K
p6 | 117H ST Paer RO | s
4.0 x 1072 [mol] 4.0 x 102 mol
31TH n x 29 [g/mol] = 1.2 [g] nx29g/mol =12¢g
91TH 0.0247 [Pa - m® - mol 2] 0.0247 Pa - m - mol =2
1017H 2.66 x 1075 [m® - mol 1] 2.66 x 1075 m? - mol~*
T2 5 1017H 4.0 x 1072 [mol] 4.0 x 102 mol
Tt 94TH 1.0 x 103 [m?] 1.0 x 102 m?
T2 57 T Tl T et
4.42 x 10729 [m?] 4.42 x 10729 m?
Tk 317H (44.2)1/3 x 10710 [m] (44.2)Y/3 x 1071 m
3.54 x 10719 [m] 3.54 x1071%m
T»e 21TH 1.1x107%m?] = 1.1[em3] | 1.1 x 107%m?® = 1.1 cm?
4.0 x 1072 [mol] 4.0 x 1072 mol
p.7 147H 0'02?17,>(;§<41'8i<3‘1)02_2)2 [Pa] 0'02?17.3&41'8531)02_2)2 Pa
~ 40 [Pa] ~ 40 Pa
417 H 40 [Pa) 40Pa
p.10 5 51TH n [mol] YEEn
p12 | 547H 3.43 x 1076 [m3/°C] 3.43 x 10~m3/°C
9.34 x 1074 [m?] 9.34 x 1074 m?
Firb 154TH 1.1 % 1077 K] 11x 107K
e 81TH 1.0 x 10° [Pa] 1.0 x 10° Pa
p.18 1417H n [mol] WHE R
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p.26 76 1017H n [mol] WHEEn
p.34 1017H n [mol] WHEEn
p.50 1017H 0.0034 [Pa - m® - mol—2] 0.0034 Pa - m% - mol—2
2.4 x 107 [m? - mol 1] 2.4 x 107°m? - mol !
1117H 0.36 [Pa - m% - mol 2] 0.36 Pa - m® - mol—2
4.8 x 107° [m?® - mol 1] 4.8 x 107°m?® - mol~!
p.58 51TH 1.0 x 10° [Pa] 1.0 x 10° Pa
617 H 300 [K] 300K
p.59 | Fab 747H 4.1 x 10* [J /mol] 4.1 x 10%J /mol
6.0 x 102 [g/m?] 6.0 x 102 g/m?
T 617 H 6.0 x 10 [Pa] 6.0 x 10* Pa
T 514TH 1.0 x 10° [Pa] 1.0 x 10° Pa
p.73 101TH n [mol] n
p.94 | Fab 317H 1.0 x 10° [Pa) 1.0 x 10° Pa
208 [K] 208K
T2b 147H 1.67 x 10727 [kg] 1.67 x 107" kg
p-95 217H e (] Toeige m’
2.5 x 1072 [m?] 2.5 x 1072 m?
447H 3.5 x 10~ [m] 35x10°m
51TH 3.5 [nm] 3.5nm
6 ?? E 6,28><1,67><61A06§;<71>?17,:;48><10*23><298 [Hl] 6,28><1,67><61.(§;i;<71>(<]17,3348><10’23><298 m
TP H 1.0 x 1010 [mm] 1.0 x 10~ 0 m
81TH 0.1 [nm] 0.1nm
p.107 | F/»5 24TH 2.1 x 1028 [m—?] 2.1 x 10%m 3
T2 b 117H 6.6 x 10727 [kg] 6.6 x 1072 kg
pa0s | 207 o o T S
<2.1x120'i:1[m’3])2/3 =3.1[K] (2.1x1292i m—3>2/3 — 31K
517H 217 [K] 2.17K
p.110 | 21T7H 8.45 x 10% [m ™3] 8.45 x 10¥ m—3
317 H 9.11 x 103 [kg] 9.11 x 1031 kg
617H (3% x8.45%10%%)/3 [m~1] | (372 x 8.45 x 10%%)1/3 m~!
1.36 x 1019 [m™1] 1.36 x 1019 m~1
1TH 0.1 [nm] 0.1nm
g
10 47 1.12x 10~ 8 [J] = 7.00[eV] | 1.12 x 10~ 18] = 7.00eV
1317 80, 000 [K] 80,000 K
p.119 | 1217 5.01 x 103 [m/s] 5.01 x 10° m/s
131 2.27 x 10 [m/s] 2.27 x 103 m/s
1.96 x 103 [m/s] 1.96 x 103m/s
6.90 x 102 [m/s) 6.90 x 102 m/s
p.161 | F2e 84TH 6.6262 x 1034 [J - 5] 6.6262 x 104 J -5
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p.161 e 21TH 6.57 x 10734 [J - g 6.57 x 10734 - s
p.162 | 217H 1.1 x 10" [Hz] = 4.4[eV] | 1.1 x 10" Hz =4.4eV
517 H el S
6.4 x 10734 [J - ] 6.4x 1073 s
p.172 31TH —272[°C] —272°C
51TH 3 cm] x 0.18 = 0.54 [cm] 3cm x 0.18 = 0.54 cm
71TH M + 500 [kg] M +500kg
817 H S My 205K My
977H 29 10"‘><18103>;1300°O><(§)7r><10 [kg] 29 % 1075X218.93>§<1:50000X(%>ﬂxlo‘5 ke
4.9 x 10 [kg] 4.9 x 103 kg
10 17 H 334 [K] 334K
p.174 | F225 1447H 3.5 x 102 [m/s] 3.5 x 10> m/s
T 1041TH n;j [mol] nj
p-175 26 1297H %&% — 18 [cm? - mol 1] % — 18 cm? - mol !

~ 3.0 x 1072 [m?® - mol™!]

~3.0x1072m? - mol~?

T 114TH

373 [K]x3.0x10~? [m®-mol ']

373 Kx3.0x10 "2 m® -mol !

4.1x10% [J-mol 1]
=27x107*[Pa~! K]

41x10% J-mol—1
=27x107%Pa"! - K

6 1047H

6.0x 107 [Pa]—1.0x 10 [Pa)
= —0.4 x 10° [Pa]

6.0 x 104 Pa— 1.0 x 10° Pa
= —0.4 x 10° Pa

T2b 91TH 2.7x 1074 [Pa~! - K]x 2.7x107*Pa"t - K x
(—0.4x10° [Pa]) = —11[K] | (—0.4 x 10°Pa) = —11K
T25 7T4TH 6.0 x 10* [Pa] 6.0 x 10* Pa




